Lot

= RAEXEMH

BE_

43 — 11> —186x+ 144 =0

A —49x% + 151x—120=0

X —5¢ —24x=0

50 — 51x% + 154x— 120 = 0

X =107 +21x =0

HIZh:

Y- —-12x=0

X =57 -2x—-16=0

X —6F+5¢=0

A + 212 + 14x—24 =0

X — 10x° — 11x+ 180 = 0
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Lot

= RAEXEMH

BE_

A — 11x% —186x+ 144 = 0

x:

, 76,8

W

47 — 49x% + 151x— 120 = 0
5
~.8.3
4

x:

X —5¢ —24x=0
x=28,-3,0

5% — 51x% + 154x— 120 = 0
6
_)455
5

x:

X =107 +21x =0
x=3,7,0

HIZh: A7

Y- —-12x=0
x=4,-3,0

X =57 -2x—-16=0
x=-2,8—1

X —6F+5¢=0
x=5,1,0

A3 + 212 + 14x—24 =0
3
~, 4,2
4

x:

X — 10x° — 11x+ 180 = 0
x=9,5—4
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